Math 8-1

Test #3 Practice

Graph each equation.
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Solve each equation.

11)|l:{4—|=4

13) |9-105] -10=-1

15) |6r+3|-7=-4

17) |-2v-3| +4=5

5+7x]
-

19) 5

21) -5|-6b-1| - 6 =-61
23) 2|20+ 7| -4=-14

25) 104k - 2| + 6 =26
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12) |10x - 4| +10=66

14) |x-8|+2=15

3

16) |4p - 4] _

|1 - 10x|
4

=2

18)
20) 8+ |26-9| =-23
22) 8|3m-7|-9=7

24) 10 - |9v - 3| =50

26) 8-9|-8-5k| =-10
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27) -3|x+5|+6=-9 28) 8|7r-4| +8=-96
29) 3|-36-1| -9=-9 30) 6+2|3x-3| =48

Solve each inequality and graph its solution.

31) |[10n+7] +7<24 32) 6- |6 4n\<28
<_:7 _:6 _:5 _:4 _:3 _:2 _:1 0 1 2 3 i é: ‘-3 7 6-5-4-32-101 2 3 445A'
4x + 7 -9v+5
L sy 125l
7 3
S S a5 2ot s 4 S G s 20123 45
| -3+ 4b]| 36) 6|1 - 6x| <42
) ————=4 o
3 DI I B A A

Gl

-5 -4 -3 -2-10 1 2 3 4 5 6 7

Y

37) —4|5x+ 6| < -44 38) —6+ [2m+10| <4

PRIV S A A MM PR PR T I S S o
“3n+8 40) -1 - |3+ 5n| >-38

39) | n+ |>3 ,), 1 | ,+, n|> lllllllll

2 98 76-5432-10123 4567

T g -4 0 4 8 12 -

41y 7|9x +3| <42 k-4

) 7foxes| <2 Lt

S a G 0123 456

-8 -6 -4 -2 0 2 4 6 8 10 12 14 16



43,).7|.2Tx.<11% o i) Ifsn;10|>4

o
—
[ i8]
w
o 4

8 -7 -6 -5 -4 -3 -2 -

bt
45) 7|-3 +x| >7
"2 10 1 2 3 456 7 8 910

Sketch the graph of each linear inequality.
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48) y=3 49) 5x+4y=4
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